

Page 1 of 7

Contract ID: 25448 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: January 30, 2025 District(s): N4
Call Order: 448 Project(s): N/A

Contract Time: 12/31/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) DENVILLE LI		(2) TRAFFIC	LINES, INC.			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Al	t Set:	Cat A	It Member:		
0001	151006M	1.000	5,200.00000	5,200.00	5,000.00000	5,000.00		
	MANCE BOND AND IT BOND	DOLL						
0002	152015P	1.000	5,000.00000	5,000.00	20,000.00000	20,000.00		
POLLUT	ION LIABILITY INSUI	RANCE DOLL						
0003	MMR004M	13.000	3,000.00000	39,000.00	3,000.00000	39,000.00		
MOBILIZ	ATION	U						
0004	MMR005M	4.000	1,500.00000	6,000.00	1,500.00000	6,000.00		
SPECIAL	MOBILIZATION	U						
0005	MMR006M	1.000	4,000.00000	4,000.00	4,000.00000	4,000.00		
EMERGE	ENCY MOBILIZATION	N U						



Page 2 of 7

Contract ID: 25448 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: January 30, 2025

Call Order: 448

Project(s): N/A

Contract Time: 12/31/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) DENVILLE LING		(2) TRAFFIC	LINES, INC.			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	Set:	Cat A	It Member:	
0006	MMG018M	2,500.000	1.00000	2,500.00	1.00000	2,500.00		
FIELD O	FFICE EQUIPMENT	DOLL						
0007	158072M	1.000	1,250.00000	1,250.00	2,000.00000	2,000.00		
OIL ONLY EMERGENCY SPILL KIT, U TYPE 1		LL KIT, U						
8000	109006M	10,000.000	1.00000	10,000.00	1.00000	10,000.00		
FORCE	ACCOUNT	DOLL						
0009	MMR080M	23,700.000	0.01000	237.00	0.25000	5,925.00		
CLEARII	NG SITE	LF						
0010	610003M	80,000.000	1.50000	120,000.00	2.00000	160,000.00		
	C STRIPES, 4" (CALLO HAN 50,000 L.F.)	OUTS LF						

Page 3 of 7



Tabulation of Bids

Contract ID: 25448 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: January 30, 2025

Call Order: 448

Project(s): N/A

Contract Time: 12/31/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) DENVILLE LI		(2) TRAFFIC	LINES, INC.			
Alt Set / Alt	Member Quar	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 I	Roadway		Cat Alt	Set:	Cat A	It Member:	
0011 610	0006M	11,000.000	2.00000	22,000.00	3.00000	33,000.00		
TRAFFIC STRI LESS THAN 50	IPES, 6" (CALLOUTS 0,000 L.F.)	LF						
0012 610	0007M	7,500.000	3.00000	22,500.00	4.00000	30,000.00		
TRAFFIC STRI LESS THAN 50	IPES, 8" (CALLOUTS 0,000 L.F.)	LF						
0013 610	ME000	40,000.000	1.25000	50,000.00	2.00000	80,000.00		
	IPES, 4" (CALLOUTS . AND GREATER)	LF						
0014 610	0006M	15,000.000	2.00000	30,000.00	3.00000	45,000.00		
	IPES, 6" (CALLOUTS . AND GREATER)	LF						



Page 4 of 7

Contract ID: 25448 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: January 30, 2025

Call Order: 448

Project(s): N/A

Contract Time: 12/31/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) DENVILLE LI		(2) TRAFFIC	LINES, INC.			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	Set:	Cat A	It Member:	
0015	610007M	10,000.000	3.00000	30,000.00	4.00000	40,000.00		
	STRIPES, 8" (CALLO 00 L.F. AND GREATEI							
0016	610060M	7,000.000	18.50000	129,500.00	25.00000	175,000.00		
TRAFFIC	MARKINGS SYMBO	LS SF						
0017	610013M	2,000.000	2.60000	5,200.00	3.00000	6,000.00		
TRAFFIC	MARKING LINES, 4"	LF						
0018	610014M	15,000.000	5.20000	78,000.00	6.00000	90,000.00		
TRAFFIC	MARKING LINES, 8"	LF						
0019	610016M	3,000.000	6.50000	19,500.00	9.00000	27,000.00		
TRAFFIC	MARKING LINES, 12	2" LF						



Page 5 of 7

Contract ID: 25448 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: January 30, 2025 District(s): N4
Call Order: 448 Project(s): N/A

Contract Time: 12/31/26 COMPLETION DATE Min: Max:

	lo / Item ID Pescription		(1) DENVILLE LI		(2) TRAFFIC	LINES, INC.		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Al	Set:	Cat A	It Member:	
0020	610017M	7,500.000	15.50000	116,250.00	18.00000	135,000.00		
TRAFFIC	MARKING LINES, 2	24" LF						
0021	610012M	25.000	40.00000	1,000.00	50.00000	1,250.00		
RPM, MO	ONO-DIRECTIONAL,	WHITE U						
0022	610018M	25.000	40.00000	1,000.00	50.00000	1,250.00		
RPM, MO	ONO-DIRECTIONAL, LENS	U						
0023	610021M	25.000	40.00000	1,000.00	50.00000	1,250.00		
RPM, BI- LENS	DIRECTIONAL, AME	BER U						
0024	610024M	150.000	5.00000	750.00	12.00000	1,800.00		
REMOV	AL OF RPM	U						



Page 6 of 7

Contract ID: 25448 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: January 30, 2025 District(s): N4
Call Order: 448 Project(s): N/A

Contract Time: 12/31/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) DENVILLE LING		(2) TRAFFIC	LINES, INC.		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0025 610027M	250.000	20.00000	5,000.00	25.00000	6,250.00		
REMOVAL AND REPLA RPM LENS	CEMENT OF U						
0026 610030M	50.000	200.00000	10,000.00	300.00000	15,000.00		
FLEXIBLE DELINEATOR MOUNTED	R, GROUND U						
0027 610036M	15,000.000	1.00000	15,000.00	1.50000	22,500.00		
REMOVAL OF TRAFFIC	STRIPES LF						
0028 610039M	4,970.000	4.00000	19,880.00	6.00000	29,820.00		
REMOVAL OF TRAFFIC	MARKINGS SF						
Section Totals:			\$749,767.00		\$994,545.00		
	Contract Totals		\$749,767.00		\$994,545.00		



Page 7 of 7

Contract ID: 25448 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: January 30, 2025 District(s): N4
Call Order: 448 Project(s): N/A

Contract Time: 12/31/26 COMPLETION DATE Min: Max:

Contract Description: MTN Pavement Markings Contract, North - 2025

Cost Plus Time Totals \$749,767.00 \$994,545.00

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 448 Contract ID: 25448 Counties: BERGEN, ESSEX,

HUDSON, MORRIS, PASSAIC, SUSSEX, UNION, WARREN

Letting Date: January 30, 2025 10:00 AM District(s): N4

Contract Time: 12/31/26 COMPLETION DATE

Contract Description: MTN Pavement Markings Contract, North - 2025 Project(s): N/A

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	DENVILLE LINE PAINTING, INC.	\$749,767.00	100.00%
2	TRAFFIC LINES, INC.	\$994,545.00	132.65%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.